

A GENERALIZATION OF HYERS–ULAM–RASSIAS STABILITY OF THE G–FUNCTIONAL EQUATION

GWANG HUI KIM

(communicated by Th. M. Rassias)

Abstract. We investigate a generalization of the Hyers-Ulam-Rassias stability for the gamma type functional equation $f(x+p) = \Gamma(x)f(x) + \psi(x)$ and the stability in the sense of Ger for the functional equation of the form $f(x+p) = \Gamma(x)f(x)$. As a consequence, we obtain a stability result in the sense of Hyers-Ulam-Rassias for G -functional type equations.

1. Introduction

In 1940, the stability problem raised by S. M. Ulam [19] was solved by D. H. Hyers in [5]. The result of Hyers has been generalized to the unbounded case by Th. M. Rassias [16], and this has been extended by P. Găvruta [3] and R. Ger [4].

The gamma function

$$\Gamma(x) = \int_0^{\infty} e^{-t} t^{x-1} dt \quad (x > 0)$$

is a solution of the gamma functional equation $g(x+1) = xg(x)$, whose stability is proved by S.-M. Jung ([8], [9], [10]) and G. H. Kim ([11], [12], [13]).

The G -function introduced by E. W. Barnes [2]

$$G(z) = (2\pi)^{\frac{z-1}{2}} e^{-\frac{z(z-1)}{2}} e^{-\gamma \frac{(z-1)^2}{2}} \prod_{k=1}^{\infty} \left[\left(1 + \frac{z-1}{k}\right)^k e^{1-z+\frac{(z-1)^2}{2k}} \right]$$

does satisfy the equation $G(x+1) = \Gamma(x)G(x)$ and $\Gamma(1) = G(1) = 1$, where γ is the Euler-Mascheroni's constant defined by $\gamma = \lim_{n \rightarrow \infty} \left(\sum_{k=1}^n \frac{1}{k} - \log n \right) \cong 0.577215664 \dots$.

The properties and values of G -function depend on those of the gamma function. Since the double gamma function Γ_2 is defined by the reciprocal of the G -function (see [2]), $\Gamma_2(x) = 1/G(x)$, and its functional equation can be written in the form $\Gamma_2(x+1) = \Gamma_2(x)/\Gamma(x)$. Therefore the stability problem for the G -function is equivalent to the stability for the reciprocal of the double gamma function.

Mathematics subject classification (2000): 39B52, 39B72, 39B82.

Key words and phrases: functional equation, gamma and beta function, Hyers-Ulam stability, Hyers-Ulam-Rassias stability, p -series.

In this paper, we will investigate a generalization of the Hyers-Ulam stability in the sense of Găvruta and Ger for the functional equations

$$f(x + p) = \Gamma(x)f(x) + \psi(x), \tag{1.1}$$

$$f(x + p) = \Gamma(x)f(x), \tag{1.2}$$

$$f(x + 1) = \Gamma(x)f(x), \tag{1.3}$$

where ψ is the given function, while f is the unknown function. The equation (1.3) will be called the G -functional equation because its solution is the G -function.

In section 2, we will study the stability in the sense of Găvruta for the functional equations (1.1), (1.2).

In section 3, we will consider the stability in the sense of Ger for the functional equations (1.2).

Throughout this paper, let R, R_+ and R_* denote the set of real numbers, the set of all positive real numbers and the set of all nonnegative real numbers, respectively. Each positive real number δ is fixed. The functions $\psi : R_+ \rightarrow R_*$ and $\varepsilon : R_+ \rightarrow R_*$ are defined.

2. Generalization of Hyers-Ulam-Rassias stability

THEOREM 1. *Let ε be a given function such that*

$$\omega(x) := \sum_{k=0}^{\infty} \frac{\varepsilon(x + kp)}{\prod_{j=0}^k |\Gamma(x + jp)|} < \infty \quad \forall x \in R_+. \tag{2.1}$$

If a function $f : R_+ \rightarrow R_+$ satisfies the inequality

$$|f(x + p) - \Gamma(x)f(x) - \psi(x)| \leq \varepsilon(x) \quad \forall x \in R_+, \tag{2.2}$$

then there exists a unique solution $g : R_+ \rightarrow R_+$ of the equation (1.1) with

$$|g(x) - f(x)| \leq \omega(x) \quad \forall x \in R_+. \tag{2.3}$$

Proof. For any $x \in R_+$ and for every positive integer n , let $\omega_n : R_+ \rightarrow R_*$ and $g_n : R_+ \rightarrow R_+$ be the functions defined by

$$\omega_n(x) := \sum_{k=0}^{n-1} \frac{\varepsilon(x + kp)}{\prod_{j=0}^k |\Gamma(x + jp)|}$$

and

$$g_n(x) := \frac{f(x + np)}{\prod_{j=0}^{n-1} \Gamma(x + jp)} - \sum_{k=0}^{n-1} \frac{\psi(x + kp)}{\prod_{j=0}^k \Gamma(x + jp)}$$

for all $x \in R_+$, respectively.

By (2.2), it follows that

$$\left| \frac{f(x + p)}{\Gamma(x)} - f(x) - \frac{\psi(x)}{\Gamma(x)} \right| \leq \frac{\varepsilon(x)}{|\Gamma(x)|} \quad \text{for all } x \in R_+.$$

Substituting x by $x + np$ in this inequality, and then dividing both sides of the obtained inequality by $\prod_{j=0}^{n-1} |\Gamma(x + jp)|$, we get

$$|g_{n+1}(x) - g_n(x)| = \frac{\varepsilon(x + np)}{\prod_{j=0}^n |\Gamma(x + jp)|}. \quad (2.4)$$

By induction on n we prove that

$$|g_n(x) - f(x)| \leq \omega_n(x) \quad (2.5)$$

for all $x \in R_+$, and for all positive integers n . For the case $n = 1$, the inequality (2.5) is an immediate consequence of (2.2).

Assume that the inequality (2.5) holds true for some n . Then we obtain the inequality for $n + 1$ by (2.4) in the following way:

$$\begin{aligned} |g_{n+1}(x) - f(x)| &\leq |g_{n+1}(x) - g_n(x)| + |g_n(x) - f(x)| \\ &\leq \frac{\varepsilon(x + np)}{\prod_{j=0}^n |\Gamma(x + jp)|} + \omega_n(x) \\ &= \omega_{n+1}(x). \end{aligned}$$

We claim that $\{g_n(x)\}$ is a Cauchy sequence. Indeed, by (2.4) and (2.1), we have for $n > m$ that

$$\begin{aligned} |g_n(x) - g_m(x)| &\leq \sum_{k=m}^{n-1} |g_{k+1}(x) - g_k(x)| \\ &\leq \sum_{k=m}^{n-1} \frac{\varepsilon(x + kp)}{\prod_{j=0}^k |\Gamma(x + jp)|} \longrightarrow 0 \end{aligned}$$

as $m \longrightarrow \infty$.

Hence, we can define a function $g : R_+ \longrightarrow R_+$ by

$$g(x) := \lim_{n \rightarrow \infty} g_n(x). \quad (2.6)$$

From the definition of g_n , we have $g_n(x + p) = \Gamma(x)g_{n+1}(x) + \psi(x)$, hence the function g satisfies (1.1).

We show from (2.5) that g satisfies the inequality (2.3) as follows:

$$\begin{aligned} |g(x) - f(x)| &= \lim_{n \rightarrow \infty} |g_n(x) - f(x)| \\ &\leq \lim_{n \rightarrow \infty} \omega_n(x) \\ &= \omega(x) \quad \forall x \in R_+. \end{aligned}$$

If $h : R_+ \rightarrow R_+$ is another such function, which satisfies (1.1) and (2.3), then we have

$$\begin{aligned} |g(x) - h(x)| &= |g(x + np) - h(x + np)| \cdot \prod_{j=0}^{n-1} \frac{1}{|\Gamma(x + jp)|} \\ &\leq 2\omega_n(x + np) \cdot \prod_{j=0}^{n-1} \frac{1}{|\Gamma(x + jp)|} \\ &= 2 \left(\sum_{k=0}^{\infty} \frac{\varepsilon(x + (n+k)p)}{\prod_{j=0}^k |\Gamma(x + (n+j)p)|} \right) \cdot \prod_{j=0}^{n-1} \frac{1}{|\Gamma(x + jp)|} \\ &= 2 \sum_{k=n}^{\infty} \frac{\varepsilon(x + kp)}{\prod_{j=0}^k |\Gamma(x + jp)|} \end{aligned}$$

for all $x \in R_+$ and all positive integers n , which tends to zero as $n \rightarrow \infty$, since $\omega(x)$ is bounded. This implies the uniqueness of g . \square

COROLLARY 1. *If a function $f : R_+ \rightarrow R_+$ satisfies the inequality*

$$|f(x + p) - \Gamma(x)f(x) - \psi(x)| \leq \delta \quad \forall x \in R_+, \tag{2.7}$$

then there exists a unique solution $g : R_+ \rightarrow R_+$ of the equation (1.1) with

$$|g(x) - f(x)| \leq \delta\mu(x) \quad \forall x \in R_+, \tag{2.8}$$

where the function $\mu(x) := \sum_{k=0}^{\infty} \prod_{j=0}^k \frac{1}{\Gamma(x+jp)}$ for all $x \in R_+$.

In particular, if either $p \geq 1$ or $x + p > 2$ in the stability inequality (2.7), then there exists a unique solution $g : R_+ \rightarrow R_+$ of the equation (1.1) with

$$|g(x) - f(x)| \leq \begin{cases} \frac{\delta (\Gamma(x + p) + 1 + e)}{\Gamma(x)\Gamma(x + p)} & \text{or} \\ \frac{\delta\Gamma(x + p)}{\Gamma(x) (\Gamma(x + p) - 1)}. \end{cases} \tag{2.9}$$

Proof. Set $\varepsilon(x) = \delta$ in Theorem 1. The infinite series $\mu(x)$ satisfies the condition (2.1). Indeed, the sequence of partial sums $\{u_n(x)\}$ defined by

$$\mu_n(x) := \sum_{k=0}^n \prod_{j=0}^k \frac{1}{\Gamma(x + jp)}$$

is a Cauchy sequence with simple calculation.

In the case of $p \geq 1$, the defined function $\mu(x)$ implies

$$\begin{aligned} \sum_{k=0}^{\infty} \prod_{j=0}^k \frac{1}{\Gamma(x + jp)} &\leq \frac{1}{\Gamma(x)\Gamma(x + p)} \left(\Gamma(x + p) + 1 + \sum_{k=2}^{\infty} \prod_{j=2}^k \frac{1}{\Gamma(x + j)} \right) \\ &< \frac{\Gamma(x + p) + 1 + e}{\Gamma(x)\Gamma(x + p)}. \end{aligned}$$

In the case of $x + p > 2$, the defined function $\mu(x)$ implies

$$\begin{aligned} \sum_{k=0}^{\infty} \prod_{j=0}^k \frac{1}{\Gamma(x + jp)} &\leq \frac{1}{\Gamma(x)} \left(1 + \frac{1}{\Gamma(x + p)} + \frac{1}{\Gamma(x + p)^2} + \dots \right) \\ &= \frac{\Gamma(x + p)}{\Gamma(x) (\Gamma(x + p) - 1)}. \quad \square \end{aligned}$$

Theorem 2 and Corollary 2 follow immediately from Theorem 1 and Corollary 1 with $\psi(x) = 0$.

THEOREM 2. *Let the function ε satisfies the condition (2.1). If a function $f : R_+ \rightarrow R_+$ satisfies the inequality*

$$|f(x + p) - \Gamma(x)f(x)| \leq \varepsilon(x) \quad \forall x \in R_+, \tag{2.10}$$

then there exists a unique solution $g : R_+ \rightarrow R_+$ of the equation (1.2) subject to the condition (2.3) for all $x \in R_+$.

COROLLARY 2. *If a function $f : R_+ \rightarrow R_+$ satisfies the inequality*

$$|f(x + p) - \Gamma(x)f(x)| \leq \delta \quad \forall x \in R_+, \tag{2.11}$$

then there exists a unique solution $g : R_+ \rightarrow R_+$ of the equation (1.2) satisfying (2.8) for all $x \in R_+$.

In particular, if either $p \geq 1$ or $x + p > 2$ in the stability inequality (2.11), then there exists a unique solution $g : R_+ \rightarrow R_+$ of the equation (1.2) satisfying (2.9).

REMARK 1. Theorem 2 and Corollary 2 in the case of $p = 1$ provide the generalization of the Hyers-Ulam-Rassias stability in the sense of Găvruta and the Hyers-Ulam stability for the G-functional equation (1.3), respectively. For the latter the reader is referred in paper [14].

3. Stability in the sense of Ger for the equation (1.2)

THEOREM 3. *Let a function $f : R_+ \rightarrow R_+$ satisfies the inequality*

$$\left| \frac{f(x + p)}{\Gamma(x)f(x)} - 1 \right| \leq \varepsilon(x) \quad \forall x \in R_+, \tag{3.1}$$

where $\varepsilon : R_+ \rightarrow (0, 1)$ is a function such that

$$\sum_{j=0}^{\infty} \varepsilon(x + jp) < +\infty. \tag{3.2}$$

Then there exists a unique solution $g : R_+ \rightarrow R_+$ of the equation (1.2) with

$$\alpha(x) \leq \frac{g(x)}{f(x)} \leq \beta(x), \tag{3.3}$$

where $\alpha(x) := \prod_{j=0}^{\infty} (1 - \varepsilon(x + jp))$ and $\beta(x) := \prod_{j=0}^{\infty} (1 + \varepsilon(x + jp))$ for all $x \in R_+$.

Proof. The condition (3.2) implies that $\prod_{j=0}^{\infty}(1 \pm \varepsilon(x + jp))$ converges. Hence, we can define the functions α, β for all $x \in R_+$ such that $0 < \alpha(x) := \prod_{j=0}^{\infty}(1 - \varepsilon(x + jp)) < \prod_{j=0}^{\infty}(1 + \varepsilon(x + jp)) := \beta(x) < +\infty$, that is, these series are bounded.

For any $x \in R_+$ and for every positive integer n , we define

$$g_n(x) = \prod_{j=0}^{n-1} \frac{f(x + jp)}{\Gamma(x + jp)}. \tag{3.3}$$

For all positive integers m, n with $n > m$, we have

$$\begin{aligned} \frac{g_n(x)}{g_m(x)} &= \frac{f(x + (m + 1)p)}{\Gamma(x + mp)f(x + mp)} \times \\ &\times \frac{f(x + (m + 2)p)}{\Gamma(x + (m + 1)p)f(x + (m + 1)p)} \times \\ &\times \cdots \frac{f(x + np)}{\Gamma(x + (n - 1)p)f(x + (n - 1)p)}. \end{aligned} \tag{3.5}$$

It also follows from (3.1) that

$$0 < 1 - \varepsilon(x + jp) \leq \frac{f(x + (j + 1)p)}{\Gamma(x + jp)f(x + jp)} \leq 1 + \varepsilon(x + jp) \tag{3.5}$$

for all $x \in R_+$ and $j = 0, 1, 2, \dots$. From (3.5) and (3.6), we get

$$\prod_{j=m}^{n-1} (1 - \varepsilon(x + jp)) \leq \frac{g_n(x)}{g_m(x)} \leq \prod_{j=m}^{n-1} (1 + \varepsilon(x + jp))$$

or

$$\begin{aligned} \sum_{j=m}^{n-1} \log(1 - \varepsilon(x + jp)) &\leq \log g_n(x) - \log g_m(x) \\ &\leq \sum_{j=m}^{n-1} \log(1 + \varepsilon(x + jp)). \end{aligned}$$

Since $\sum_{j=0}^{\infty} \log(1 - \varepsilon(x + jp)) = \log \alpha(x)$ and $\sum_{j=0}^{\infty} \log(1 + \varepsilon(x + jp)) = \log \beta(x)$, it follows that $\lim_{m \rightarrow \infty} \sum_{j=m}^{\infty} \log(1 - \varepsilon(x + jp)) = \lim_{m \rightarrow \infty} \sum_{j=m}^{\infty} \log(1 + \varepsilon(x + jp)) = 0$ by boundedness of α, β . Hence, we note that $\{\log g_n(x)\}$ is a Cauchy sequence for all $x \in R_+$. It is reasonable to define a function $g : R_+ \rightarrow R_+$ by

$$g(x) = e^{L(x)} = \lim_{n \rightarrow \infty} g_n(x) \quad \forall x \in R_+, \tag{3.6}$$

where $L(x) := \lim_{n \rightarrow \infty} \log g_n(x)$.

We get that

$$g(x + p) = \Gamma(x)g(x) \quad \forall x \in R_+. \tag{3.7}$$

Since

$$\frac{g_n(x)}{f(x)} = \frac{f(x + p)}{\Gamma(x)f(x)} \cdot \frac{f(x + 2p)}{\Gamma(x + p)f(x + p)} \cdots \frac{f(x + np)}{\Gamma(x + (n - 1)p)f(x + (n - 1)p)},$$

we get

$$\prod_{j=0}^{n-1} (1 - \varepsilon(x + jp)) \leq \frac{g_n(x)}{f(x)} \leq \prod_{j=0}^{n-1} (1 + \varepsilon(x + jp))$$

for all $x \in R_+$. This inequality implies (3.3) with the definition of α, β as $n \rightarrow \infty$.

Assume $h : R_+ \rightarrow R_+$ is a solution of equation (3.8) which satisfies the inequality (3.3). By (3.8), we have

$$\frac{g(x)}{h(x)} = \frac{g(x + np)}{h(x + np)} = \frac{g(x + np)}{f(x + np)} \cdot \frac{f(x + np)}{h(x + np)}$$

for any $x \in R_+$ and for any natural number n .

Hence, we have

$$\frac{\alpha(x + np)}{\beta(x + np)} \leq \frac{g(x)}{h(x)} \leq \frac{\beta(x + np)}{\alpha(x + np)}$$

for any natural number n . By the boundedness of the series ε ,

$$\alpha(x + np) = \prod_{j=n}^{\infty} (1 - \varepsilon(x + jp)) \rightarrow 1$$

as $n \rightarrow \infty$. Similarly $\beta(x + np) \rightarrow 1$ as $n \rightarrow \infty$.

Therefore, it is obvious that $h(x) \equiv g(x)$. \square

From the proof of Theorem 3, we can see that the assumption (3.2) is a weak condition for the convergence of α and β . The special case $p = 1$ has been considered in [14].

COROLLARY 3. *Let a function f satisfies inequality (3.1), in which $\varepsilon : R_+ \rightarrow (0, 1)$ is a function such that*

$$\alpha(x) := \prod_{j=0}^{\infty} (1 - \varepsilon(x + jp)) \quad \text{and} \quad \beta(x) := \prod_{j=0}^{\infty} (1 + \varepsilon(x + jp))$$

are bounded for all $x \in R_+$. Then there exists a unique solution $g : R_+ \rightarrow R_+$ of the equation (1.2) satisfying (3.3) for all $x \in R_+$.

COROLLARY 4. *Let $\theta > 0$ be given. If a mapping $f : R_+ \rightarrow R_+$ satisfies the inequality*

$$\left| \frac{f(x+1)}{\Gamma(x)f(x)} - 1 \right| \leq \frac{\delta}{x^{1+\theta}} \quad \forall x \in R_+,$$

then there exists a unique solution $g : R_+ \rightarrow R_+$ of the gamma functional equation (1.3) such that for any $x > \delta^{\frac{1}{1+\theta}}$ the following inequality is satisfied

$$\alpha(x) \leq \frac{g(x)}{f(x)} \leq \beta(x),$$

where $\alpha(x) := \prod_{j=0}^{\infty} (1 - \frac{\delta}{(x+j)^{1+\theta}})$ and $\beta(x) := \prod_{j=0}^{\infty} (1 + \frac{\delta}{(x+j)^{1+\theta}})$.

Proof. Applying Theorem 3 with $p = 1, \varepsilon(x) = \frac{\delta}{x^{1+\theta}}$, if $x > \delta^{\frac{1}{1+\theta}}$, then $\sum_{j=0}^{\infty} \frac{\delta}{(x+j)^{1+\theta}}$ converges by the p -series method. Hence, we get the desired result. \square

4. Examples

We apply the result of Theorem 3 with $p = 1$.

EXAMPLE 1. $\varepsilon(1+i) = \frac{1}{(1+i)^q}$, for $q > 1$. Note that the series $\sum_{k=0}^{\infty} \frac{1}{k^q}$ in the case $q > 1$ converges.

EXAMPLE 2. $\varepsilon(1+i) = \frac{1}{(1+i)!}$. Note that $\sum_{i=0}^{\infty} \frac{1}{(1+i)!} = e - 1$.

REFERENCES

- [1] H. ALZER, *Remark on the stability of the Gamma functional equation*, Result. Math., **35**, (1999), 199–200.
- [2] E. W. BARNES, *The theory of the G-function*, Quart. J. Math., **31**, (1899), 264–314.
- [3] P. GĂVRUTA, *A Generalization of the Hyers-Ulam-Rassias stability of approximately additive mappings*, J. Math. Anal. Appl., **184**, (1994), 431–436.
- [4] R. GER, *Superstability is not natural*, Rocznik Naukowo-Dydaktyczny WSP w Krakowie, Prace Mat., **159**, (1993), 109–123.
- [5] D. H. HYERS, *On the stability of the linear functional equation*, Proc. Nat. Acad. Sci. U. S. A., **27**, (1941), 222–224.
- [6] D. H. HYERS, G. ISAC AND TH. M. RASSIAS, *Stability of the Functional Equations in Several Variables*, Birkhäuser Verlag, 1998.
- [7] K. W. JUN, G. H. KIM AND Y. W. LEE, *Stability of generalized Gamma and Beta functional equations*, Aequationes Math., **60**, (2000), 15–24.
- [8] S. M. JUNG, *On the general Hyers-Ulam stability of gamma functional equation*, Bull. Korean Math. Soc., **34**, (1997), 437–446.
- [9] S. M. JUNG, *On the modified Hyers-Ulam-Rassias stability of the functional equation for gamma function*, Mathematica. Cluj, **39**, (1997), 233–237.
- [10] S. M. JUNG, *On the stability of gamma functional equation*, Results in Math., **33**, (1998), 306–309.
- [11] G. H. KIM, *On the stability of generalized Gamma functional equation*, Internat. J. Math. & Math. Sci., **23**, (2000), 513–520.
- [12] G. H. KIM, *The stability of generalized Gamma functional equation*, Nonlinear Studies, **1**, (2000), 92–96.
- [13] G. H. KIM, *A generalization of the Hyers-Ulam-Rassias stability of the Beta functional equation*, Publ. Math. Debrecen, **59**, (2001), 111–119.
- [14] G. H. KIM, *Stability of the G-functional equation*, Korean J. Comput. & Appl. Math.(Series A), **9**, (2002), 837–844.
- [15] G. H. KIM, Y. W. LEE, *The stability of the beta functional equation*, Studia Univ. “Babes-Bolyai”, Mathematica, **40**, (2000), 89–96.
- [16] TH. M. RASSIAS, *On the stability of the linear mapping in Banach spaces*, Proc. Amer. Math. Soc., **72**, (1978), 297–300.
- [17] TH. M. RASSIAS, P. ŠEMRL, *On the behavior of mappings which do not satisfy Hyers-Ulam stability*, Proc. Amer. Math. Soc., **114**, (1992), 989–993.
- [18] TH. M. RASSIAS, J. TABOR, *Stability of Mappings of Hyers-Ulam Type*, Hadronic Press Inc., Florida, 1994.
- [19] S. M. ULAM, *Problems in Modern Mathematics Chap. VI*, Science editions, Wiley, New York, 1964.

(Received September 1, 2003)

*Department of Mathematics
Kangnam University
Suwon, 449-702
Korea
e-mail: ghkim@kangnam.ac.kr*